BIEE T O

HZNOR BEBREREMRAGSR-Hud -HBFEFR. KTYIADITETR)

1R
[ h5RER
UG —kt BE ’
[ 17vy9R%Hm
wE || [we B
mrs < A WClR ][ m=s .
up@ — —u — EQT«
e e 250
K\ AN
AIZE
49.3
TR
227
REEEE ZBHR—I
51.84 5 414.72
up
EBE
12.96 ) BT
| e —
= S enz |
1296 [~ 1296
o
AO0—7 UP — 4
up
2[R
AR -BEEIFE
10 A 188 m |
Z BHIA—IL 874 m
%%ﬁ:é_ 46 m
SEE 69 m
= 23 m
N ERBE 42 ni - 1581 n
- REEEE 71 m
HE=2 RIE 144 m
kL 52 m
BAE 52 m
IEEE=E2 |7 90.72 SRR 20 m_
9.72 2 HEZE1 356 m
HHE=E2 356 m 805
BEEE=E1 — BT EEE = 04 m [ -
9.72 IEEE=E2 04 m
A&t 2386 m
| K7 vORMITETR
HHE=EA 1R ZBEMHR—IL 41472 m ]
BT 130 m
|| 0 5= 12.96
SEE 2592 m 49656 m
EB=E 12.96
A 70 m
|| Fes E% 100 m -
2 IEEE=E2 996 m
ﬁg L BT 44.0 m} 5396 m
= /% &5t 550.52 m




